Marking Scheme-Practice Paper 3

COMPUTER SCIENCE (CPU)
(SUBJECT CODE: 906)

Note: Apart from the marking instructions, a teacher can evaluate at his discretion.

sAle: 3fehel fAgelt & 3remmar, U RIgTh 39 [AARTER Hediched T Hehell &

Maximum Marks: 40 Time: 2:30 hours

General Instructions:

i.
ii.
iii.
iv.
V.

This question paper is divided into 4 Sections - A, B and C and D.

Section A consists of 1 question (10 parts -Objective Type of 1 mark each).

Section B consists of 4 questions (2-5). Each question carries 1 mark.

Section C consists of 5 questions (6-10). Each question carries 2 marks.

Section D consists of 4 questions (11-14). Each question carries 4 marks.

Internal choices are given in all 4 questions.

SECTION A
(Each part of the question carries 1 Mark)

What does SMTP stand for?

SMTP &T QI &9 &1 §7?

a) Secure Mail Transmission Protocol / &Y Al CHARA Wiclhiol
b) Simple Mail Transfer Protocol / f&9el #el AW TcIhicl

c) Server Mail Text Protocol / AR A SFEC Weldlel

d) System Maintenance and Transmission Protocol / f@¥e# #Fiewiq Us
ZafAAT Wethrer

Ans | b) Simple Mail Transfer Protocol / f&qer ®el AW Welhieh

1 Mark for correct identification of the related term.
1(ii) Which SQL function is used to retrieve the maximum value from a

given column?
fRar IGT 91T column & 31fde AT gcd = & fow fFa sQL
Herelel ST 39T fohaAT SATAT B2
a) AVG()
b) MIN( )
c) MAX(")
d) COUNT( )

Ans | c) MAX( )

1 Mark for correct identification.




1(if)

Which HTML tag is used to create a hyperlink in a webpage?
freT deusr # grsmfols s & fow g HTML 291 &1 393ier fhar
ST 87

a) <u>
b) <a>
c) <|>
d) <p>
Ans | b) <a>
1 Mark for correct identification.
1(iv) If the elements “m”, “r*, “p”, and “qQ” are placed in a stack and are
removed one at a time, in what order will they be removed?
Ifg element "m", "r", "p", 3T "q" Y TF stack A @ AT ¥ IR
TR # ger R amar B, A 3% e w7 germ Smeen?
a) q,r,p,m
b) q,p,r,m
¢) m,p,r.q
d) m,r,p,q
Ans | b) q,p,r,m
1 Mark to identify the order of removal from stack.
1(v) The tag is used to insert an image in a web page.
31 T 3ULGNT 99 Y56 H Ueh image STell & forw fanam
ST &
Ans | <img>
1 Mark for writing the correct HTML tag.
Note: Deduct 2 mark for not writing < > symbol.
1(vi) In C++, the symbol is used before the class name to
represent a destructor.
C++ &, fBTcael & a2 & AU FoIrg AT O Ugel
gclieh T IUANeT R ST B
Ans | ( 7 ) tilde or tilde or ( 7 )

1 Mark for writing correct symbol or its name.
Note: Do not deduct marks if only symbol is given or only name is

given or any spelling mistake.




1(vii)

A constructor is a function that initializes an object when it is
created. True/ False

FeIcFed Th Hharled & o fhdl 3ffeoide o gl W 3/ YR T gl
/38

Ans | True qca
1 Mark for correct identification.

1(viii) The <h1> tag in HTML is used to define the highest-level heading,
typically representing the main heading of a document.True/ False
<h1> HTML # &7 &l 3u2er ITaddA-Fg ¥ 1 aReitda wie &
forT foham Sier 8, St 3AAR W gEdia & e Aived & giafafte
HLAT &l /A

Ans | True qca

1 Mark for correct identification.

Direction: In the questions given below, there are two statements
marked as Assertion (A) and Reason (R). Choose the correct
option out of the choices given below in each question:

féer: s R arv geat &, Fuar (A) 3R FROT (R) & &7 & RAEAT ar
HUA &1 T AP I H AT Ry v et # O T8 [Aheq 1 I
HifaT:

1(ix)

Assertion (A): The INSERT command in SQL is used to add new
data to a database.
Reason (R): INSERT is primarily used for updating existing records
in a database.
I. Both (A) and (R) are correct and (R) is correct
explanation of (A).
. Both (A) and (R) are correct and (R) is not the correct
explanation of (A).
ll.  (A) is true but (R) is false.
IV. (A) is false but (R) is true.

Y4 (A): SQL #F INSERT command T seed & 41 37 Jisd &
forT 3uter fRar Srar 1




FROT (R): INSERT #ET &9 & Sereq # #Higar RS &l HUsT a3l &
forT 3uter R e &1
. (A) 3R (R) g @Er & 3R (R), (A) &7 TEr earear gl
. (A) 3R (R) et @@r § 3R (R), (A) Fr T&r sarear 7@t
gl
. (A) T § ofeet (R) 318cT gl
V. (A) 38T § afha (R) IcT gl

Ans

Il (A) is true but (R) is false.

. (A) §F & afera (R) 38T B

1 Mark for correct identification.

Assertion (A): Firewalls are essential components in network
security.
Reason: They act as a barrier between a trusted internal network
and untrusted external networks, controlling incoming and outgoing
network traffic.
I.  Both (A) and (R) are correct and (R) is correct
explanation of (A).
.  Both (A) and (R) are correct and (R) is not the correct
explanation of (A).
. (A) is true but (R) is false.
IV. (A) is false but (R) is true

FYA (A): BRRAI oAcds FI&T H 3aedqsh v gl
FROT (R): I Tah TARaTAT AR sicash AR ATARad=g qedr sicash
& T T 9T & FT H FT Hd &, S 3 ared 3R S gt Aeae
P PERT
. (A)IR (R) gt T&r g 3R (R), (A) Fr F&r <arear gl
1. (A) 3R (R) e T@&r & 3R (R), (A) Fr Tgr arear «igh
gl
. (A) I § oifeet (R) 318cT gl
IV. (A) 38T g dfhe (R) IcT gl

Ans

I. Both (A) and (R) are correct and (R) is correct explanation of (A).

l. (A) 3R (R) =t @@r § 3R (R), (A) Fr Tgr sarEm gl

1 Mark for correct identification.




SECTION B

(Each question carries 1 mark)

Write syntax of “for” loop in C++.

C++ # "BR" oUW &1 [&deq fod|

Ans

Syntax of "for" loop in C++:

C++ & "BR" o0 1 fHtew:

for (initialization; condition; increment)

{

/I code to be executed

}
OR

for (expression 1; expression 2; expression 3)

{

/| code to be executed

}

Statement 1 / initialization: executed once at the beginning.

aﬁaﬂaﬁrwmﬁw@a%mW|

Statement 2 / condition: evaluated before each iteration, and if true,
the loop continues; otherwise, it exits.

Ycdeh GeRIg & Ugel FHedichel fohar e g, 3R afe & &, ar o[ Sy
TEAT ¥ 3T, AT TR feiehel S ¥

Statement 3 / increment: executed at the end of each iteration.

I QRGN & 3 # fersarfea|

1 Mark for any correct syntax of for loop.

(Deduct 2 mark if there is any syntactical error)

Write any one use of the scope resolution operator in C++.

C++ H FhIY IS IR & Teh 3TN FAT|

Ans

To define a member function outside a class.

AT Farg@ & IgY Ry AR Bl H gRATNT FIET)

1 Mark for any correct use of scope resolution operator.




Define First Normal Form (1NF).

HEC AT BiF (1NF) & aRenia F3

Ans

A relational database is in 1NF if each of its column contains atomic
(indivisible) values i.e. each column contains only single values.

e Rereed seed INF & giar § afe sas gds Flad # ueids
(31TITeT) Aoy &1 i.e. TAF HlTH H ddel U & dog Bl &

1 Mark for any correct definition of First Normal Form.

Define Record.

Repis a1 aRenfda &

Ans

A record type is a collection of files that share a common structure

or format.

Repls YR I8 FISl FT GIE § ST Teh AT GIT AT KT i FTST
HLr gl

1 Mark for any correct definition of Record.

SECTION C

(Each question carries 2 marks)

Write the HTML code that will produce the given output on a
webpage.

g8 HTML #Is fod St foRdl dedsl W QT 910 3M3eYe &l J&dd |

Example of formatting Tags.
This 1s bold.

This 1s italic.

This 1s underline.

Ans

HTML code that will produce the given output on a webpage:

HTML &1 S fodr 9eds X feu arw 3M3eYe Ca) T I
<HTML>

<BODY>
Example of formatting Tags.<br>
This is <b>bold</b>.<br>

This is <i>italic</i>.<br>




This is <u>underline</u>.<br>
</BODY>
</HTML>

2 marks for using <br> (break tag) correctly.

2 marks for using <b> (bold tag) or <strong> (strong tag) correctly.
Y2 marks for using <i> (italic tag) or <em> (emphasis tag) correctly.
Y2 marks for using <u> (underline tag) correctly.

Do not deduct any marks if any other supporting tags like <html>,
<body>, <title> or <p> tags are used other than the above 4 scoring

tags.

OR

Explain the process of saving an HTML code.

HTML IS &I 89 el I 9ishar ford |

Ans

1. Open a Text Editor:
Use a text editor, such as Notepad to create or edit your HTML
document.
2. Write HTML Code:
Compose or modify the HTML code to define the structure and
content of your webpage. Include essential HTML tags like <html>,
<head>, and <body>.
3. Save the File:
Choose the "Save" option from the text editor's File menu.
Specify a filename with the ".html" extension, ensuring that the file
type is set to "All Files" or "Text Documents.
4. Choose Save Location:
Select the folder or directory where you want to save the HTML file.
5. Click Save:
Click the "Save" button to store the HTML document in the specified

location.

1. U& TFEe UfEeT @l




o 9l HTML GEAAS §allel AT HUIfGT et & forw fora
CHEC TSR FT 3YANT HY, I Acds|
2. HTML %15 fad:

o 3Usl JEUS I TIAT IR GAHA Fr aRHNT = & faw
HTML @IS & a1 |9 &<l <html>, <head>, 3iR
<body> & Fgcaqul HTML ¢3& enfaer &Yl

BT F AT B

o UG HUGH & "Bigel’ Al ¥ "QT" fdehed &l TTA H|

o "html" [TEAR @ Tk BET AH oA, ARTT FX
WS TR Bl "THT BEe" AT "UIS GEAEST” W He fhar

w

T gl
4. 99 ¥ AT FUE T
e dg West AT AfEse T F1 93T HT @7 319 HTML
WISl Sl A FT TEd &
5. 99 W Fas
e " AT " FeT W Foeh HY afdr HTML gxarast Afése
I H 89 FI T |

2 marks for correct explanation of saving an HTML code.

Do not deduct marks for any spelling mistake.

What is a parametrized constructor in C++7? Write its syntax.

C++ H YHICUSSS ShEgaed FIT gl g2 381 Taced fod|

In C++, a parametrized constructor is a special type of constructor
in a class that helps to initialize an object when it is created. To
create a parameterized constructor, we simply add parameters as we
do in any other function.It also allows you to initialize the object with
specific values right at the time of its creation.

C++ H, Tsh RACBoS FEcFHeX Th Folldl H Ueh TAAY YR HT hegael
g St fonell 3ffesiere T aellel WX 38 YE I H Hee Al g Th
IRTAET ol hegehed ollel o T, g0 98 WA Siisa § sk & ga
Rl 30T HaRlT H FAT &1 T§ 3TIHl 3T AT & gag faferse
Tqed & Y Jfeolde H HRH F A 3FATT Sl &




The syntax of a parametrized constructor:

T WACSSS Higaed Hl fAeTFy:

class ClassName
{
public:

ClassName(type parameter1, type parameter2, ...)

{
/I Constructor body

}
8 OR/ar

Programming example of parametrized constructor:
#include <iostream>
using namespace std;
class Point {
public:
int x, y;
/I Parameterized Constructor
Point(int x1, int y1) : x(x1), y(y1) {}

2
int main() {
/I Constructor called
Point p1(10, 15);
/I Access values assigned by constructor
cout << "plx =" << plx << " ply =" << pl.y;
return 0;
}

The output of the program:
pl.x = 10, pl.y = 15

1 Mark for any correct definition/ explanation of parametrized
constructor.

1 Mark to write correct syntax.

Deduct 2 marks if there is any syntax error.

Do not deduct any marks for correct explanation even without
programming




Give full marks attempting the programming example with correct
syntax and output even without theoretical explanation.

Explain the syntax of the SUM () function in SQL with an example.
Teh 3GTeX0T & AT SQL # SUM () wareleT & cad Fr caredr S|

Ans

The SUM () function returns the sum / total of an expression. It
is used to find out the sum of a field/column/attribute in various
records. It takes a column name as its argument.

Syntax of SUM ()

SELECT SUM(column_name)

FROM table_name;

Example:

SELECT SUM(Price)

FROM Products;

Given that ‘Product’ is the table name and ‘Price’ is it's one of the

column names.

SUM () %herelel Teh e & IeT / el &I SAlerdl &1 $HHT 3TANT
faffieer s1ferat 7 fFet Bies/micaa/faAvar & JeT &7 gar emel & fow
fohar STar 81 I8 39 G F ®9 H TS HlelH AH AdT 8l

Syntax of SUM ()

SELECT SUM(column_name)

FROM table_name;

3cTgIUT:

SELECT SUM(Price)

FROM Products;

Jg cEd gU f& table &1 s 'Product' § 31K 'price' &iaeT AT T § &

& gl

1 mark for any correct definition of SUM ( ) function.
Y2 mark for correct syntax.
Y2 mark for any correct example of SUM ( ) function.

Deduct 2 marks for any syntax error.




Even if there is a spelling mistake other than syntax, do not deduct

any marks if the concept is understood.

What are the advantages of using SQL?
SQL &7 39T &l & FIT BIAS 87

Ans

Advantages of Using SQL:
1. Simplicity: SQL is easy to write and read.
2. Portability: It is portable across different platforms.
3. Versatility: Suitable for both large and small databases.
4. Security: Implements security measures such as user
authentication, authorization and encryption to protect data.
SQL T 39ANT FIA F PIIa:
1. ®Xeramn SQL foraet 3R weat 7 & &
2. qiéfafad: I8 Rffies coewhird W NEad gl
3. Rfduam a3 3 ok SeeEl & faw sugea Bl
4. QI 3TN FATONRIOT, 3gafd, 3R uiespoerer Siel gret
3YTANET T § ST &l Gt & fav|

1/2 mark for each correct advantage of using SQL.
1/2 marks for explaining the advantage in one line.

Do not deduct marks for any spelling mistake.

10.

Rahul, a student at XYZ School, was unwell and had to stay home.
To ensure he doesn't miss out on lessons, Mrs. Patel, his teacher,
conducted a virtual class using video conferencing. (2 marks)

XYZ el &1 B Tgel IHETEY AT 3R 3§ &R R E=l 95T A1l Tg
FARTT A & AU o a8 96 @ g o SV, 3oeht fferer sach
geol o GISAT PiethiAdT Pl ITANT deh Teh JTHTHT HaT AT I |

I. What is the primary benefit of using video conferencing in this

scenario?

a) Reduced Travel Time to School

b) Enhanced Collaboration with Classmates

c) Real-time Interaction with the Teacher

d) Improved School Uniform Design

g gReeT & AT HISHTAIT FHI 3YIRT FIA T WUTHES AT FIT g2
a) Tkl S & AT AT T AT FA FAT

b) TEUIfSAT & AT TEINT TGl

c) et & Ay aredfdes AT &1 Siadid




d) 9§’ Thet adf fSaise

[I. Which of the following is an example of a video conferencing app

commonly used for remote learning?

a) Zomato

b) Paytm

c) Zoom or Google Meet
)

d) None of the above

fAFAtai@a & & HlaT ar AT HIShTAT VT HT U 361607 & i
AN o) gy AT & v 3uher fhar Srar g2

a) Sirder

b) dcreA

C) SIH AT P He

d) 3T A @ HI &

Ans l. c) Real-time Interaction with the Teacher
c) etk & Ay arEdafds AT T drddid
Il. c) Zoom or Google Meet
C) SIH AT P He
1 mark each for both correct identification.
Do not deduct any marks for any spelling mistakes if option name is
correctly written.
SECTION D
(Each question carries 4 Mark)
What is Linear Queue in data structure? Write down the algorithm
for deleting an element from a linear queue with an appropriate
11. example.
ST TR H SN} &g 37 §7 3QI60T & A Ueh ellfeld] &g &
ufodie goet & fov TeeniRea ford|
Linear Queue: A linear queue is a data structure that follows the
Ans | First-In-First-Out (FIFO) principle, where elements are added at the

rear (enqueue) and removed from the front (dequeue).

Queue

Deletion ‘ | 10 | 20| 30 | 40 | 50}.__—- Insertion

t01 2 3 ",4
/ '

Front Rear

Algorithm for Deleting an Element from a Linear Queue:
1. Check if the queue is empty.




2. If the queue is empty, display an underflow error (the queue
is already empty).

3. If the queue is not empty, remove the element from the front
of the queue.

4. Adjust the front pointer to point to the next element in the
queue.

5. Display the deleted element.

Example: Let's consider a linear queue with elements {10, 20, 30,

40, 50. The front points to 10, and the rear points to 40.

1. Initial Queue: Front -> (10, 20, 30, 40,50 <- Rear

2. Dequeue Operation:

e Check if the queue is empty (No).
e« Remove the element from the front (10).
e Adjust the front pointer to the next element (20).
o Display the deleted element (10).
3. Updated Queue: Front -> 20, 30, 40, 50 <- Rear

Now, the linear queue becomes [20, 30, 40, 50 after deleting the

element 10 from the front.

e (FIFO) & TAeHid & dreled Hcl ¢, I8l ded 9IS F S8 S &
(3T9g) 3R 3 A gerw S § (SFY)|
f ey ¥ @ dca ge & v TeanRea:
1. g5 glaftad & & g @relr § a1 =7
2. IfE Fg @ren §, @ v Jstwel R Rww (7 gwd ¥ & @ren
6|
3. afe ag @l @i §, @ # & 3 /@ e gl
4. Fg & 30 T A T F A1 Tg 30T ded B FiAad R
5. §eIU 9V dcd &l fSEcal S|
3STEOT: Tell Teh ollfia &G AT deat 10, 20, 30, 40,50 & &I AlAT
g1 she 10 1 fewrar 8, 3 NI 40 =t @ gl
1. WRf® &77; %e -> (10, 20, 30, 40 <- W
2. g AT
o IE GEARGd X & Fg @roll § a1 7@ () |
e e ¥ dcd g (10)]
e The TiSeX &l 3Tel dcd W FATANST Y (20)]
« BT AT ded A 3 ¢ (10)]




3. 3USETT F; e -> 20, 30, 40, 50 <- R

39, MR &g 20, 30, 40, 50 &7 ST & 10 &I %he @ ge= & dlg|

1 Mark for any correct definition of Linear Queue in data structure.
2 Marks for any correct algorithm for deleting an element from
queue.

1 Mark explaining the Algorithm with an appropriate example.
Deduct %> marks if there is any syntax error while writing algorithm.
Y2 marks for drawing only diagram of queue data structure.

OR

Explain Selection Sort in detail with an appropriate example.
Teh 39ge 3a1eX0T & 1Y selection HIE HT AEAR & FHSAT|

Selection sort: Selection sort is a simple and efficient sorting
algorithm that works by repeatedly selecting the smallest (or largest)
element from the unsorted portion of the list and moving it to the
sorted portion of the list.

e It is a simple and efficient sorting algorithm that works by
repeatedly selecting the smallest (or largest) element from the
unsorted portion of the list and moving it to the sorted portion of
the list.

e The algorithm repeatedly selects the smallest (or largest) element
from the unsorted portion of the list and swaps it with the first
element of the unsorted portion.

e This process is repeated for the remaining unsorted portion of
the list until the entire list is sorted.

Let us consider the following array as an example:
{64, 25, 12, 22, 11}

First pass:

For the first position in the sorted array, the whole array is traversed
from index 0 to 4 sequentially. The first position where 64 is stored
presently, after traversing whole array it is clear that 11 is the
lowest value.

64 25 12 22 11




Thus, replace 64 with 11. After one iteration 11, which happens to
be the least value in the array, tends to appear in the first position
of the sorted list.

11 25 12 22 64

Second Pass:
For the second position, where 25 is present, again traverse the rest
of the array in a sequential manner.

11 25 12 22 64

After traversing, we found that 12 is the second lowest value in the
array and it should appear at the second place in the array, thus
swap these values.

11 12 25 22 64

Third Pass:
Now, for third place, where 25 is present again traverse the rest of
the array and find the third least value present in the array.

11 12 25 22 64

While traversing, 22 came out to be the third least value and it
should appear at the third place in the array, thus swap 22 with
element present at third position.

11 12 22 25 64

Fourth pass:

Similarly, for fourth position traverse the rest of the array and find
the fourth least element in the array

As 25 is the 4th lowest value hence, it will place at the fourth
position.

11 12 22 25 64

Fifth Pass:




At last the largest value present in the array automatically get
placed at the last position in the array
The resulted array is the sorted array.

11 12 22 25 64

et |iE: ForreT TiE Ueh el 3R FAST I TealRed ¢ S Th
Tl & 3eTshiAd BEd & dRdcd Odel  (I1 HH F37) TN FGh ©iel-

gl N 30 A & HAD BEY A S T F T H FE HAT

* ¥E Uh T 3R FUA FifCaT TeaRYA § S @l & ranés ffeq @
TR-IX FH B (AT Y 3) dcd N el Hleh AR 30 F&A & diC
fopu a0 REY F of ST FIH AT B

* THNINTA IR-GR I & IEIce dET @ d98 oI (1 Jad §3)
TTIHE &1 Il BT ¢ 3R 3T 3alee HNET & Ugel ded & TAT HLT
gl

* Ig gfshar Gl & AV 38IE AT & T d9 % aleds S § S
o foh ¥ g AT shASeY e A fer S

3BT FTAT@d SOl & U 3aEe0T & &9 F 3@
{64, 25, 12, 22, 11}

Ygell Yrd:

shAdct WO # ugell Ul & fow, ¥ WOl &l 3efhifs &7 @ g3ag
0 ¥ 4 d% ¢& forar e &1 ueel Rufay ol 64 adwe & HIda &, W
WO T IR FA & TG Tg TC § 6 11 o 77 767

64 25 12 22 11

S8 YR, 64 & 11 ¥ Feol| Th TRIgR 11 & a1, St fob &l &
TIH FA AT BT §, FAICY g H Tgen Ut 7 G@ms &ar g

11 25 12 22 64

GERT U
ol f&ufay & faw, sigr 25 #isig 8, T & AW ol &7 3gshids ol
¥ IR |

11 25 12 22 64




¢8I F e, A 9T R 12 ol 7 qEu wew FH A § AR
38 WOl F gy T W @ & aiffe, $6 TR ST AW & &9
|

11 12 25 22 64

T urE:
39, IR T & fow, SiEr 25 Al 8 Y & arhr @l @ aR &Y
AR WOl & Alge HET T8 HA AT |

11 12 25 22 64

¢affer o FHT, 22 TET T FHH Fed e R Fg WO A AW
T W @S 31 MR, 36 YR 22 A T T W Al ded &
qrYd T |

11 12 22 25 64

Tt 9rE:

A R, A TU & fow A9 Tl & 9r & AR ol 7 It gea
oleT ded @it

dfeh 25 <A1 HIH A AT §, SHGT 38 Y T R @M AT

11 12 22 25 64

qradr 9Tg:

Id # WOl 7 Alsg qad F371 AT FTgarfad & & ol #7 3w =
9T 3T AT &

aRomer aTof ATy WO B

11 12 22 25 64

1 mark for any correct definition of selection sort in data structure.
1 mark for explaining the working/concept of selection sort.

2 marks for correctly explaining the concept of selection sort with
example.




12.

Explain the key stages of software development—Survey, Feasibility
study, and design—in brief. Highlight the significance of each stage in
the overall development process.

AIFeaeR fqhd & To@ TN - FAI0T, TagRIaT 3eaqael 3N FSaieet -
H &9 H AT THT [T 9fshar & vcde IOT & HAgcd G JhIeT
STel |

The Key stages of Software Development are as follows (as per the
question):

1) Requirements gathering and analysis or Survey
2) Feasibility study or Investigation and Fact Recording
3) Software design

Requirements gathering and analysis or Survey: First phase of
SDLC is to collect the requirements from customer. Survey is the
part of Requirement gathering phase of SDLC. Survey is the best
technique to collect the requirements. We can do survey with
following techniques:

1. Interviews

2. Questionnaires

3. Observation

4. Sampling

Feasibility study or Investigation and fact recording: It is a part of
Requirement analysis phase of SDLC. All the requirements collected
through surveys are investigated in this part. Feasibility study means
to check if it is possible to make the software or not. After
investigation of the requirements, final facts are recorded for
analysis.

Software Design: The next stage of SDLC is the Design phase.
During the design phase, developers and technical architects start
the high-level design of the software and system to be able to
deliver each requirement.

Significance of all Stages:
1. Survey: Survey makes sure we understand what we need
before we start. It's like making a shopping list before going
to the store.




2. Feasibility Study: Feasibility Study helps us decide if the
project is a good idea. It's like checking if we have enough
time, money, and resources before starting a big project.

3. Design: Design is like creating a detailed plan before building
something. It's like having a map so we know where we are
going. This step helps everyone work together and build the
software the right way.

AFeaq A & A&7 IO AR § (T F IHqaR):
1) 3TIIHATT ThT HeeT AR faeerwor a1 g

2) Frfafaferdr reaaa ar oa 3R thae Reprisar

3) AFeaR feomseT

HTNRIFAT THT HAT AR freawor a1 o

SDLC T Ugell IXOT Ageh T TaISATN I ThT 6T &1 TS SDLC
T TIIhdT TIE TXOT T §E@T §1 HTAIHATHAT HI Tehd el & ol
TS G =S deheiis 1 gH AeIfaf@a deelier ¥ ad &Y ¥ &
1. Gr§dTch

2. gaATgelr

3. 3ifeoRaer

4. dFqferer

rfafRfed sreage ar s 3k $ee Reifsar

Ig SDLC &I 3TaeTehdr TAReINUT TROT &l Ueh LT gl 39 A6T & & &
ATETH I Tehd FI 318 THT MTeTRhdam3il T g Fr A1ar g iAfafedr
ETTT HT Y TE AT ¢ 5 ATFedIX AT 3T & AT AT
3MEIHA3 T T F 91, [Fever F v 3197 a2 g v I g

AFeaaT fBomse

THSTTAHT T 3ETeT TROT f3SSeT TROT g1 f39isel TROT & eI, Saody
3R el 3nfdcae Ycder TaRISHAT T U FT H HaTH gl & v
HiFeaR AR @A o1 sTa-EliT e 4% ad gl

Tt T&ST FT Agea:

1. wdator w: gdetor gH Ig FARYUT el A Heg A § b gH
TEa ¥ & §FeT 3T F g Fr afgv) sHE Adew § 93
ARSTEAT T YR3MT & Tgel §H STlld & fob g &rar wifgw 3ik
ER NG




2. ardan rega/ hae RFIET: I8 ol I8 GARYT o § Heg
AT & T dioiere &l IR 81 & AT AT Ig SAadT g b & ar
AR I 30 WA & fav @Ay, 49, 3Rk area § ar a8

3. FFecaW B3E: 3 g8 I8 9d & Heg HdT & & &5 Fa
AT &1 STUHRT AT ¢ [ §H Ig THSTA H HeG Rl g 1
arFeazR Far @ 3R Fa FET FEm|

1 mark for any correct explanation of Survey

1 mark for any correct explanation of Feasibility Study

1 mark for any correct explanation of Design

1 mark for writing correct significance of all stages.

Ignore any spelling mistakes in Hindi as well as in English if the
meaning of the word is understood.

Do not deduct any marks if the English version of the word is
written in Hindi. i.e. consider Software or T¥cdIX both as correct.

OR

Explain Unit, Integration, System and Acceptance testing in software
development.

AircaaT fashra & 1S, THIaHor, Jomell X Fispfa adefor dr sarear
H|

Software testing is the process of evaluating and verifying that a
software does what it is supposed to do.

There are four main stages of testing
1) Unit testing

N

Integration testing

()

)
) System testing
)

N

Acceptance testing.

Unit Testing

Unit testing is testing the smallest testable unit of software. It is
done during the coding phase by the developers. To perform unit
testing, a developer writes a piece of code (unit tests) to verify the
code is correct.

Integration Testing

Integration testing is the second level of the software testing process
comes after unit testing. In this testing, units or individual




components of the software are tested in a group. The focus of the
integration testing level is to expose defects at the time of
interaction between integrated components or units.
Integration testing can be carried out by two different approaches:
o Top-Down approach: Testing higher level modules to lower
level modules
o Bottom-Up approach: Testing lower level modules to higher
level modules

System Testing

System testing is the first level in which the complete application is
tested as a whole. The goal at this level is to check whether the
system is working as per the requirements. System Testing is very
important because it verifies that the software meets the technical
and functional requirements that were set by the customer.

Acceptance Testing

The final level, Acceptance testing (or User Acceptance Testing), is

conducted to check whether the system is ready for release. During
this final phase, the user will test the system to find out whether the
application meets their needs.

HiFedwr e Aoaidet 3R FATaT Fr 1 9fhar § & tF AR
dg AT § S 30 T aIfRu|

efeear & IR HET =Wor &

1) e fedar

2) THIROT/ZETaNAT CTEaT

3) fa¥eH e

4) THia/ VFdTeeg e

Ifere R

Ig IRETOT AFCAI I TIH OIS ¢TI AT s Fr <Tear X gl
g STATY GART HIfSIT TWOT & R fhar J1er §1 Flele SR it &
fore, @5 @Er & I8 T A & foIU Toh STAII IS T Ueh Tohsl
(Ifere efEda) fogar

ThrvT/EERer feear




ThTIOT SR AredaR TEET TishdT &l AN FW & ST gers fecar
& dIg AT g1 30 <fEEer #, TFeaIqR &I SHISAT AT SAFAIT TThl I
Teh Heg H FEET R STar B Tehrendor fEEeT TR T &A1l Tehiehel
TCH AT SHIBAT & aId dTddId & AT G ' 39PR HLT gl
TehTeRI 0T SFEEIT &1 ITA9T-37e9T ddehl § T ST Hehell &

o U313 I AT TR & Algg & v 39 T Ay

FI STECIAT AT
o SICH-31T 3 fAeel TR & Al @ 3o W & Al &l
ALzl
e efeea

foreea f&Ear ygen T/ ¢ TS0 Aol vt &1 @Ha &7 § eRecar
foraT ST 81 39 TR W 98T Ig e & o {Eed 3magsant &
HTER FH X 6T & a1 61| Feew ¢feer agd el & #=ifw a5
T T & o AIFedIR Tedh garT AU deheiienl 3R FHATcA®
TGRS I G AT &

Tdipfal dFdvery e

Ig A TR &, Thfa ¥ (A ITETehdt Fdispfa eREan), Ig St
& T 3mfoa foear Srar & fof v Relisr & fow aar § a7 =g
gq 3ifaH TROT & gRIA, IYIRTHAT Ig Il oolel & o RBeeH &
CTEEaT T o UTCHTehelel 3eTehl JTaRAHAIIN &l G T § AT 81|

1 mark for correct explanation of Unit testing

1 mark for correct explanation of Integration testing

1 mark for correct explanation of System testing

1 mark for correct explanation of Acceptance testing.

Ignore any spelling mistakes in Hindi as well as in English if the
meaning of the word is understood.

Do not deduct any marks if the English version of the word is

written in Hindi. i.e. consider Testing or ¢f&eT both as correct.

13.

What is a Protocol? Explain the Significance of SMTP and HTTPS
Protocols in networking.

Yiciehiel &7 §? sicdfedl A SMTP 3R HTTPS Wicieid & Hgcd i
HASSU|

Protocol: A protocol is a set of rules or guidelines that define how
data is transmitted and received over a network. It is like a set of
rules that computers follow when they talk to each other. It helps
them understand how to send and receive information so that they
can communicate properly. It tells the format and order of messages




exchanged between different devices. Protocols helps devices and
systems from different manufacturers to interact in networked
environments.

There are many protocols which are responsible for transmission and
receiving of data over networks. Two of these important protocols
are:

SMTP and HTTPS Protocols:

SMTP (Simple Mail Transfer Protocol) is like a postman ensuring
safe delivery of emails, while HTTPS (Hypertext Transfer Protocol
Secure) acts as a security guard for internet activities, encrypting
sensitive data for safe online communication.

Significance of SMTP and HTTPS protocols in networking are:

SMTP (Simple Mail Transfer Protocol):

e Email Delivery Manager: SMTP is like a manager in charge
of delivering emails.

e Addressing System: It organizes email information, including
sender and recipient addresses, ensuring emails go to the
right place.

e Ensures Proper Format: SMTP sets the rules for how emails
should be formatted and transmitted, preventing confusion
during delivery.

¢ Reliable Communication: Without SMTP, sending emails
would be like sending letters without an address or a postal
system - there would be no guarantee they'd reach their
destination.

HTTPS (Hypertext Transfer Protocol Secure):

e Internet Bodyguard: HTTPS acts as a bodyguard for your
internet activities.

e Encryption Expert: It encrypts (puts in a secret code) the
information you share online, such as passwords and personal

details.




e Safe Online Transactions: Essential for secure online
transactions, like shopping or banking, HTTPS ensures your
sensitive data remains private and protected.

e Trusted Connection: When you see "https://" in a website's
address, it's a sign that your connection to that site is safe
and secure. Without HTTPS, personal information could be at
risk during online interactions.

WerpIe: Aeihld T dc AGRIe a1 s § o I8 Ui axar g
fo 3aT Al Acad W FA 9T 3R wred fmar Srdr &1 T§ Feged A
Teh gHY & 1Y Sdid S & [T 30§ H8 dreler g, 0 R e
arell Th Qe fATH 1 80 3¢ T S § g Aot AR ged A
T dPT GHSTAT AT &1 I8 AT 3YHI0N & ST eA-Uer ger
arel TRl T &9 3R A T IaTdT §1 Weldhia et AT &
3ol 3R fAECHT @1 Acad & ardreror # Uh gEl & 6y yaifed

A H AcE LT gl

3eT &I sedat W IVT 3K gred Fa F O FFAeR 3@ Wesra B
ST ¥ &1 Hgca ol Seiehial g

SMTP 3k HTTPS WeXre:
SMTP(WWWWH)@HWHQ@WHWW
Teh STRAT T TG §, Sdieh HTTPS (SISTREHFEC T™ WieTelel FRaid)
getaie afafafadl & fav uew guanm sofur v siffswr e g,
gagaAefer 3eT FI AAeSA Talg & v Tieshte T gl

AedhaT A SMTP 3T HTTPS Welshid &l HAgcd:

SMTP (RUd A THHT Nelhid):

* AW AR yauF: SMTP $AT 95l & 96U &l

« qaT yorrel:: ¥ SAS SAHY F FART T &, Wed et 3R
el & Tl T FhARTT Ik THA P TN SHIE TgaTel ¢

* 3T FawT gAReaa Fxar & SMTP oAt & de war ¢ & $aa
HA TR IR IR fRr sem TR, S agarg & ek #S o
oTet &l

o feaueiTr warg: SMTP & 9T, SAT AT T S T FIH 78T Hlad
grell SIIATET T g 8|

HTTPS (SISURa¥e T Werhier FIfard):




* ST FT AENMS: HTTPS 3 Scleie Ifafafadl & drsens &

AT s B
o ufepeed RQAva: I8 s s HI T ATRRT S Ulehee (Th
WEIAT HIS A 3Tl §), SN grads 3R Ffaaera faawor|

» AT JAieTarse Aa-got: AT JHiAelsal oIed-8ol & T g
Hgcaqul &, S & @leerlr ar sfthar, HTTPS g gakad oar &
3Rt Haewrlier ser el 3R gfera w@

o fIaEAT FAFUAA: S 1T T J§ABE & Id 7 "hitps://" @A §, ar
Ig T Hhd ¢ T 39t 38 @ige @ giara 3 guiata saee &
HTTPS & foaT, 3iTeTelised SeIUaRI & aRld cafFddld STl Pl Wl
g gehdT gl

1 mark for any correct definition protocol.

1/2 marks for examples of different protocols.
1/2 marks for full forms of SMTP and HTTPS.
1 marks for explaining significance of SMTP.
1 marks for explaining significance of HTTPS.

OR

Explain the following:
frafaf@a & sarear fieT:
i. FTP

ii. Web Browser

iii. Search Engine

iv. URL

Ans

i. FTP (File Transfer Protocol):

FTP is a standard internet protocol provided by TCP/IP used for
transmitting the files from one host to another. It is mainly used for
transferring the web page from servers to other computers on the
internet. It is also used for downloading the files to computer from
other servers.

ii. Web Browsers:

Web browsers are software that helps you search the internet, view
websites, and perform various tasks online. They assist you in
viewing web pages and navigating the internet. Examples include
Google Chrome, Mozilla Firefox, and Safari.




iii. Search engine:

A search engine is a tool on the internet that helps you find
information by looking through a huge collection of websites. It is
like a super-smart librarian for the internet. When you type
something into a search engine, like Google, it looks through billions
of web pages and quickly finds and shows you all the websites,
articles, and pictures related to what you want to know.

iv. URL (Uniform Resource Locator)

URL is a unique identifier used to locate a resource on the Internet.
Every webpage on internet have unique address to help people
locate it. It is also referred to as a web address. URLs consist of
multiple parts i.e. including a protocol and domain name.

i. FTP (P18 SAWY HeYhid):

THET Teh HleAeh Felelc UIeihldl § Sif SRITdl/3TSdT @t vere ferar
ST & forEehT 3UANT HISal & T ge ¥ g8 # FUEART #a &
forT foham SiTdr 81 98 H&T &9 @ 99 9 H TR F $AC W 37
YR A TAAART H & fAT 91T fhar Srar g1 sqehr 39

e FAU W HYX A B8 SB3eAels el & faw o fham S g

ii. a9 A3

9 FI3oR AFEAIX § ST IR 3ol W T Flel, dGABeH Pl ST,
IR RBffea FRt F 3iTdET RS & #Ace FAT &1 Ig I A 9f
2@a 3R Seeie H Afddle Fa H g g1ar §1 387 Google
Chrome, Mozilla Firefox, 3Rk Safari S 3crgor enfAer gl

iii. ¥ g :

T Y Sole] 3cieic W Th 3YSRUT § S I de95eH & 93 TIg o
STAhRY Gal H Heg Il gl TE Seieic & fov Teh ITea[uradr ard
qECThIC 1 oRE BIcl &| ST 39 $© Teh Y goiel, oI 7 Google, #
TI8Y X §, O Ig 3RS a9 UsF i S T g 3R eferar & 3
fSremar & wafaa @t Jearsed, @ 3R RE # gea @ ¥

iv. URL (Ifawied Rt adex):

URL T Taf3rse ggareiedl & foaer 3U39T Scieic W fohdlT TamersT &l
qdT o9l & foIT fRar Srdr 81 §edeie 9 gX dddsl &l 9« faferse gar
grar & S el Sl 3T I ol A A el §1 30 39 ugd oY
Fgl ST g1 URL & &8 19T 81d §: T Uieislal 3R 313 A1 afgdl

Y2 marks for full form of FTP without spelling mistake




2 marks for any correct explanation of FTP

1 mark for any correct explanation of Web Browser

1 mark for any correct explanation of Search Engine
Y2 marks for full form of URL without spelling mistake
Y2 marks for any correct explanation of URL

14.

What is Inheritance? Explain Multilevel, Hierarchical and Hybrid
inheritance in C++. (4 Marks)

SeReT &1 §? C++ H §RIed, gsfas 3R #Acdioaa sgRea v
& HIfAT|

Ans

Inheritance is the ability of a class to inherit all the properties and
characteristics of another class. The class that inherits the properties
from another class is known as child or derived class. The class from
which the properties is being derived and inherited is known as the
parent or base class. Derived class can inherit data members, member
functions of the base class.

Real life example of Inheritance: A child inherits properties and
characteristics from his/her parents, like, color, height, weight etc.
The 3 types of inheritances which we have to explain are:

1) Multilevel Inheritance

2) Hierarchal Inheritance

3) Hybrid Inheritance

SIEREH Uh &l & 3 Folrd & Tl ot 3R faAamsit v gree
el T &TACT &1 d€ Ford St Rl 3T Folld & 0T Ured HIh 8, 39
UI5eS AT IRMSes T & &G A ST ST &1 58 Folred & aqo7 e
fre ST @ € 3R TAvma 7 @ €, 3¢ Ne I 579 Fora & T F ST
ST g1 ASe8 FITd 3T AGEAl, o9 Folld & HFIIAR BT &l 9red
T FHhT g

SIEREH T AEcdeh Sfael 3TeX0T: Teh sedl i 3Tel HA-fIr & o7
3R ARVAT foRaa # Fedr €, S8 31, 3918, aof 3|

3 YR & SAeRed oo &8 THSIET &
1) HeEl dad STeRed
3) feuiRener sereRéw




4) grsiss SRR

Multilevel Inheritance: The inheritance in which a class can be derived
from another derived class is known as Multilevel Inheritance. Suppose
there are three classes A, B, and C. B is the base class that is
derived from class A. Now, C is the class that is derived from class
B. This makes class B, the base class for class C but is the derived
class of class A. This scenario is known as the Multilevel Inheritance.
Hedlolddl SgRed: d8 SaeRed [oTad Ush Folld fohdll 3 RIS
FoITH & YT HI ST Thdl &, Hocl ofddl SAeRed & ®T H AT AT gl
AT NS ff i Fema@ A, B3R C 81 B T Fard g of i A &
gred gl &1 319, C 98 FoIrd § St ol B & 9o glar §1 Fod B,
FAEC & T 39 Fo@ § AfhaT Forg A f 3RIScs Faw &1 3
Hedloldel SgReH & ®T & SATAT ST g

Class_A

l

Class_B

l

Class_C

Hierarchical Inheritance: The inheritance in which a single base class
inherits multiple derived classes is known as the Hierarchical
Inheritance. This inheritance has a tree-like structure since every class
act as a base class for one or more child classes.

BRea s eRéT: a8 sReRéa T e e s9 Forg 3 3Rges
FoIrH § ION HT UIed A &, 39 RINFer saeRET Fgr S g1 59
STeReT H T Ug SRl T Blar & il YA Folty Teh AT 30
FoIrd & T 9T FoIrg & T H S AT Bl

class_A

T

class B class C

NN

class_D class_E class_F class_ G

Hybrid Inheritance: As the name suggests, is the combination of two
or more types of inheritances. For example, the classes in a program
are in such an arrangement that they show both single inheritance




and hierarchical inheritance at the same time. Such an arrangement
is known as the Hybrid Inheritance.

gisfas saefea: Star fF A& & gar gadr g, ar a1 3ifis geR #r
STERET HT FANSTT g1 3SEI0T & ToIT, T Famd & Forrg WAl SIae
HE T ur & gag & [ s38RET 3R Fcdud saeRed glr
fe@ra §1 WY gaear & gIsies gARed & 9 H ST J1CT gl

class_A class_B class_C

NS

class_D

/ AN

class_E class_F

1 Mark for correctly defining Inheritance concept.

1 mark for correctly explaining Multilevel inheritance.

1 mark for correctly explaining Hierarchical inheritance.

1 mark for correctly explaining Hybrid inheritance.

Do not deduct any marks for not drawing diagrams.

1 mark for only making correct diagrams of all 3 inheritances.

OR

Write a program in C++ using structure named Employee with
integer, character, and double members for emplD, empName, and
empSalary. Create a function called printEmployeelnfo that takes an
Employee structure as a parameter and prints the employee
information.

emplID, empName, 3X empSalary & T quiies, character 3{X sael
members & TTY employee sTH structure &I 3TN Hlch C++ H Th
g ford| printEmployeelnfo ATH® Teh Hhaled 10 S Teh

employee structure &I WX F T & a1 & 31K employee &
ST e T B

A simple C++ program that uses a structure named Employee with
integer, character, and double members for emplD, empName, and
empSalary. The program includes a function called
printEmployeelnfo that takes an Employee structure as a parameter
and prints the employee information:




T C++ 9rama it emplD, empName 3R empSalary & T integer,
character 3R 39 members & ATY Employee sTH® structure T
3YAT AT &1 FRIHH F printEmployeelnfo FATHF T HarrT A &
S T Employee structure &l WR1#er & & # odr g 3R Employee
Fr SR Ve FaT &

#include <iostream>
using namespace std;

/I Define the Employee structure
struct Employee {

int emplD;

char empName[20];

double empSalary;

/I Function to print employee information
void printEmployeelnfo(Employee emp) {
cout << "ID: " << emp.empID << endl;

cout << "Name: " << emp.empName << endl;

cout << "Salary: " << emp.empSalary << endl;

}
int main()
{
/I Create an Employee structure and initialize its members
Employee emp1 = {101, "Shaurya", 50000.0};
/I Call the function to print employee information
printEmployeelnfo(emp1);
return O;
}
Output of the above c++ program:
SRIFA_c++ RIH FHI_HT3eYC:
ID: 101

Name: Shaurya




Salary: 50000.0

V2
V2
V2
V2
V2
V2
V2
V2

marks for correct header file inclusion.

marks for defining structure Employee.

marks for declaring structure variables.
marks for defining printEmployeelnfo function.
marks for defining printEmployeelnfo function.
marks for defining main() function.

marks for creating object in main function.
marks for correct output of the program.

Do not deduct any marks for case sensitivity issue (if any).
Do not deduct any marks for spelling mistakes in variable names.




